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Free rider problem arises due to ----
---- b {H TeSHT THET IGAd

A. Private goods / @TSRT &g

B. Public goods / ATasTiae a€q

C. Pure private goods / $[& @TSR{T %]
D. Club goods / FTe I&q

Regulatory capture is a theory associated with ------
BRIEETC 1= pm— oft wafera frgia sme

A. Arrow / 31

B. George Stigler / siist #=&RmaT

C. J. M. Keynes / St. TH. &4

D. Sen /&=

Which of the following not the reason of government failure?
TEIAdehT FHI0Td FLHTLAT STATIATH FHILT ATl 2

A. Lack of incentives / TTcaT2 T4

B. Poor information / #\gaq AttRdr

C. Moral hazard / == €=t

D. Full knowledge of market / asier= ot 714

A. Externalities / agar

B. Welfare economics / #eaTorshT<T srefermer
C. International trade / STATET AT

D. Monetary policy / st T

Q5. The law of rising public expenditure related to ------

A. Marshall / \rstsr
B. Hicks / f@a=



C. Adolf Wagner / sistes a9<
D. A.Sen/u. a9

Q6. Which of the following is not the principle of Taxation?
QI Tehl HI0Td T ATHTIIATH qcd ATl ?
A. Absolute equality / fH¥Trer FHTAT
B. Ability to pay / #%<T &HaT
C. Benefit principle / ATH d<a
D. Legal imposition / =i @]

Q7. Taxis ...............

A. legal imposition / FTa=efiT FHATSITA
B. lllegal imposition / ST ATE0l

C. Private imposition / @TER{T ATZ9T

D. Against the law / FFenfasg

Q8. There are two accounts in budget Revenue account and ------
EEARRECIEE R e D ) — &l T T 3.
A. Capital Account / dTEa=(t ETd
B. BOP Account / TsidT =T
C. Non debt Account / T T« GTd
D. Expenditure account / @< &Td

Q9. IMF stands for ------
ATAUATE FZTS ------
A. International member fund / sta=TS T Aeft
B. Internal monetary fund / siasta aor faeft
C. Internal member forum / siqviq aa=7 49
D. International monetary fund / sia=TgT ATorET

Q10. The decentralization theorem is central to the discussion of --------

A. Fiscal deficit / == I



B. Twin balance deficit / @t faea® =
C. Monetary federalism / srfi= s=<rs=
D. Fiscal federalism / fa<tt= s=<4




